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PIK. 17,00

Lol 00°L
Lyl oS
12911 L ace
beantisel  f et
2191l we
S+ 89T oLSHE ST 000
=
I
a-
o
Seitvosyl b ooe-
L ST - Ge'e-
‘ L op'y-
2191 gt O
Loronk 00'2-
Log'on  00L
‘ LYool 0F'S
29911 - 2lS
79N gy L o2t
PO &5 Lo
N £8 Il 00°€
Lov'onF 0072
=
= ‘ ‘ (4 l
S eI 68 SHE LI 000
= Lol 050-
I
a-
o
ghtessn b ooe-
mvdzlmwm: r G2'€-
‘ L 62y-
N ognp S0
LosonF 00°Z-
Lol 00L
Lol 09
XN L QIS
YSI yeqry L ce'e
pCoTIL Lo Lo
Ll 00°€
Lol 022
8Y'9TIF 0091 6591 000
\ Log ok 09'2-
L vera L 00e-
$C9IIF ¥6'GIT - GaE-
95911 8v'e-
LG 09
Log'onk 00°2-
| w
s g 5%
== 32| z
S S ! m m o
5 5§ |y |B2l4
< N 12 12y | o
oS o o a 17} AWn — O
a a o ] Ll Z| w m__
N AR ERE
(=] (=]
< = & 2l |8
(%] (9]

WYKOP = 3,23m2
NASYP = 0,05m2

Pole pow.
Pole pow

PIK. 140,20

WYKOP = 3,79m2
NASYP = 0,02m2

Pole pow.
Pole pow

WYKOP = 3,47m2

Pole pow.

PIK. 95,00

NASYP = 0,23m2

Pole pow.

PIK. 25,00
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WYKOP = 3,5¢m2

Pole pow.

WYKOP = 3,06m2

Pole pow.

NASYP = 0,02m2

Pole pow.

PIK. 113,00

NASYP = 0,42m2

Pole pow.

PIK. 46,00
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